PA3NOXEHNE OECATUYHDBIX

OPOBEU TTO PA3PAOAM
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daHHble yncna
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Yncna Ha 1 6onblie aAaHHbIX
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Yncna Ha 0,1 6onblue
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OaHHble yncna
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Ymcna Ha 10
MeHbLlUe AAaHHbIX
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Ymncna Ha 0,1
MEeHbLlUEe AaHHbIX
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Ymncna Ha 0,01
MEeHbLUEe AAaHHbIX
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Kakou u3 Tpex oTpe3Kkos
ONMMHHee Bcex?
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0,555=0,500+0,050+0,005 x

A€CATbIX TbICAYHbIX

YuMcno cortbix




BbicluMK pa3psaa




HanTtu pasHoCTh:

a)92-34 6)86-79 8)10,3-8,17
r) 25,6-9 n)11-2,68 e) 7-0,39
x)4,1-2,754 3)0,33-0,2291
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LHomalHee 3aaaHMe: %

n. 32 (A0 pasnoxeHuq);
Ne1228(s, r),

1229 (r, &, e), 1231,
1242
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